
  

Clarks Cycle Systems Ltd
Email:info@clarks.bike
Clarks operate a policy of continual development and product improvement and reserve the right 
to change specifications without notice. E & OE.‘ clarks.bike

All service and support 
at www.clarks.bike

SCAN ME

Tray Contents 
M4 Hydraulic Brake set parts
Description: Part Number: Quantity: Description: Part Number: Quantity:
Piston Seal M4-PS-1 80 Lever Return Spring M4-LPRS-2 80
Piston Circlip M4-PCC-1 40 Lever Blade M4-LB-1 40
Calliper Piston M4-CP-1 80 Lever Clamp M4-LCLA-1 40
Lever Bleed Bolt M4-LBB-1 40 Lever Clamp Bolt M4-LCB 40
C-jet Lever Plug M4-LP-1-L 40 Lever Plunger M4-LP-1 40
Piston Seal x 2 M4-PS-2 40 Sets Calliper Bolt M6x16 M4-CMB-1 80
Disc pad Retaining Bolt M4-DPRB-1 40 Calliper Bolt M6x18 C-M6X18 80
Olive and Insert M4-OL-1 80 Sets Calliper Bolt M6x20 C-M6X20 80
Compression Nut M4-CN-1 40

M4  
HYDRAULIC SPARE PARTS TRAY

To support mechanics and cycle workshops vital 
for maintaining Clarks hydraulic brakes, we offer a 
workshop tray of essential spare parts, specific to the 
M4 hydraulic brake set. Presented in a re-usable, clear 
plastic tray.

All parts can be purchased in the quantities shown to 
replenish the tray.

Complete Tray Price:
Part No.	 M4-SERV-B-22



  

Clarks Cycle Systems Ltd
Email:info@clarks.bike
Clarks operate a policy of continual development and product improvement and reserve the right 
to change specifications without notice. E & OE.‘ clarks.bike

All service and support 
at www.clarks.bike

SCAN ME

HYDRAULICS • FITTINGS - CLARKS HYDRAULIC BRAKE SPARE PARTS

M4 Spare Parts  
Service and maintenance parts for Clarks M4 hydraulic brake sets. 

Piston seal
Part No:
M4-PS-1

Piston circlip
Part No:
M4-PCC-1

Calliper piston
Part No:
M4-CP-1

Lever bleed bolt
Part No:
M4-LBB-1

C-Jet Lever plug
Part No:
M4-LP-1-L

Piston seal x 2
Part No:
M4-PS-2

Disc pad retaining 
bolt

Part No:
M4-DPRB-1

Olive & insert 

Part No:
M4-OL-1

Compression nut 

Part No:
M4-CN-1

Lever return 
spring

Part No:
M4-LPRS-2

Lever blade 

Part No:
M4-LB-1

Lever clamp
Part No:
M4-LCLA-1

Lever clamp bolt
Part No:
M4-LCB

Lever plunger
Part No:
M4-LP-1

Calliper bolt
Type Part No:
M6 x 16mm M4-CMB-1
M6 x 18mm C-M6X18
M6 x 20mm C-M6X20

M4 Disc Brake Pads
Please Note: These are not included in the tray, but can be ordered separately. 

VX/VRX851
Type Part No:
Organic VX851
Sintered VRX851

 


